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SIMILARITY

Fill In The Properly State The Reason



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

° Watch Video Solution



https://dl.doubtnut.com/l/_hO8XEhmSBuzh

A(ALMN)
ADMN)

2.Find

b
M P Q N

° Watch Video Solution

3. In the adjoining figure, M is the midpoint of seg AB

A(AAMC)
A(ABMC)

and seg CM is a median of AABC. Find


https://dl.doubtnut.com/l/_QLLMGE9HUV69
https://dl.doubtnut.com/l/_DE2wVdzIzkYl

A M B

° Watch Video Solution

Textual Activity

1.Drawa AABC.
1.Bisect ZB and name the point of intersection of AC
and the angle bisecto as D.

2. Mesure the sides.


https://dl.doubtnut.com/l/_DE2wVdzIzkYl
https://dl.doubtnut.com/l/_aSdOXbP4NWtP

AB= ] cm,BC= 0] cm,

AD=[] cm,DC= [ cm

3.Find rati AB d AD
J1Nnd rations BC an DC

4 You will find thaat both the rations are almost equal.

6.Bisect remaining angles of the triangle and find the

ration as above. Verify that the rations are equal.

o View Text Solution

2. Draw three parallel lines.

ii.Label them as I, m, n.

iii.Draw transversals t; and t».

iv. AB and BC are intercepts on transversal ¢;.

v.PQ and QR are intercepts on transversal t».


https://dl.doubtnut.com/l/_aSdOXbP4NWtP
https://dl.doubtnut.com/l/_bsGGT0FH73ot

P
vi.Find rations £ and —Q You will find that they

BC QR’

are almost equal. Verify theat they are equal.

° Watch Video Solution

3.1n the adjoining figure, AB||CD||EF. If AC=54,CE=

9,BD =75, then find DF.

e
J o .

:E/ \F»
/[

o Watch Video Solution



https://dl.doubtnut.com/l/_bsGGT0FH73ot
https://dl.doubtnut.com/l/_lwMTphDiZA8H

4.In AABC, ray BD bisects ZABC. A-D-C, side DE||side

BC, A-E-B, th thtAB—AE
, , then prove tha BC — BB’

B C

° Watch Video Solution



https://dl.doubtnut.com/l/_He2czMarxz0n

1. Three statements are given below:

l. In a ||gm, the angle bisectors of two adjacent angles
enclose a right angle.

l. The angle bisectors of a ||gm form a rectangle.

ll. The triangle formed by joining the midpoints of the
sides of an isosceles triangle is not necessarily an
isosceles triangle.

Which is true?

° Watch Video Solution

Practice Set 11


https://dl.doubtnut.com/l/_ZE93j6lqCnSK

1. Base of a triangle is 9 and height is 5. Base of another
triangle is 10 and height is 6. Find the ratio of areas of

these triangles.

o Watch Video Solution

2. In the adjoining figure,

BC | AB,AD 1 AB,BC =4, AD = 8, then find


https://dl.doubtnut.com/l/_jJHAu8ipa555
https://dl.doubtnut.com/l/_tMq3fYuNulm3

A(AABCQC)
A(AADB)"

o Watch Video Solution



https://dl.doubtnut.com/l/_tMq3fYuNulm3

3. In the following figure set PS | seg RQ,set QT L

set PR. If RQ) = 6, PS = 6 and PR = 12, then find the

QT.

° Watch Video Solution

4. In the adjoining figure, AP | BC, AD||BC, then

find A(AABC): A(ABCD).


https://dl.doubtnut.com/l/_tvfMNcvtlIEH
https://dl.doubtnut.com/l/_a4Na7ubBvkMS

<+ C >

B P

o Watch Video Solution

5. In the adjoining figure, PQ 1. BC, AD | BC, then

find ratio

A(APQ@B)

A(APBC)’
A
-



https://dl.doubtnut.com/l/_a4Na7ubBvkMS
https://dl.doubtnut.com/l/_fEPiUjLw5nAb

° Watch Video Solution

6. In the adjoining figure, PQ 1| BC, AD 1 BC, then

find ratio
A(APBC)
A(AABCQC) '
A
| -
B Q D C

° Watch Video Solution



https://dl.doubtnut.com/l/_fEPiUjLw5nAb
https://dl.doubtnut.com/l/_OX5Al2MHaa7J

7. In the adjoining figure, PQ 1. BC, AD | BC, then

find ratio
A(AABC)
A(AADC)
A
-
B Q D C

o Watch Video Solution

8. In the adjoining figure, PQ 1. BC, AD 1 BC, then

find ratio



https://dl.doubtnut.com/l/_b7CYchspHPmY
https://dl.doubtnut.com/l/_QoV7XUIuQ9ZG

A(AADC)
A(APQC)

° Watch Video Solution

Practice Set 12

1. Given below are some triangle and lengths of line

segments. Identify in which figures, ray PM is the

bisector of ZQPR.


https://dl.doubtnut.com/l/_QoV7XUIuQ9ZG
https://dl.doubtnut.com/l/_e4fiOk77mmil

10

coe
III.


https://dl.doubtnut.com/l/_e4fiOk77mmil

3.6

R 10 P

o Watch Video Solution

2.In APQR, PM = 15, PQ = 25, PR = 20, NR = 8.

State whether line NM is parallel to side RQ or not.


https://dl.doubtnut.com/l/_e4fiOk77mmil
https://dl.doubtnut.com/l/_3eD2reUFewIh

Given Reason.

° Watch Video Solution

3. In AMNP,N(@ is a bisector of ZN. If

MN =5, PN =7, MQ = 2.5, the find QP.


https://dl.doubtnut.com/l/_3eD2reUFewIh
https://dl.doubtnut.com/l/_8qkNRPc4sxU5

o Watch Video Solution

4. Measures of same angles in the figure are given.

AP AQ
PB  QC’

Prove that


https://dl.doubtnut.com/l/_8qkNRPc4sxU5
https://dl.doubtnut.com/l/_3jXIrzVoePDv

o Watch Video Solution

5. In trapezium ABCD side AB || side PQ || side

DC, AP = 15, PD = 12, QC = 14, find BQ.

A B



https://dl.doubtnut.com/l/_3jXIrzVoePDv
https://dl.doubtnut.com/l/_yFc8ADlCxqn4

I ° Watch Video Solution

6. Find QP using given information in the figure.

M

14

Q
25

40

O Watch Video Solution

7.In the adjoining figure, if AB||CD||FE, then find x

and AE.


https://dl.doubtnut.com/l/_yFc8ADlCxqn4
https://dl.doubtnut.com/l/_IAQflgzqnCg8
https://dl.doubtnut.com/l/_XWfjfafaerem

o Watch Video Solution

8 In ALMN, ray MT bisects ZLMN. If

LM =6, MN = 10.T'N = 8then find LT.
L



https://dl.doubtnut.com/l/_XWfjfafaerem
https://dl.doubtnut.com/l/_RnvtXWi5gQNE

[ @ Watch Video Solution

9. In AABC set BD  Dbisects ZABC.
AB—xz,BC=xz+5 AD=x—-2,DC =z + 2,

then find the value of x.

B x+5 C

° Watch Video Solution



https://dl.doubtnut.com/l/_RnvtXWi5gQNE
https://dl.doubtnut.com/l/_NsedW21OPHy5

10. In the figure X is any point in the interior of triangle.
Point X is joined to vertices of triangle. Seg PQ | | set
DE, set QR | | set EF. Fill in the blanks to prove that set

PR | | seg DF.

o Watch Video Solution



https://dl.doubtnut.com/l/_vsVHkvkrehHV

1. In AABC/ray BD bisects ZABC' and ray CE bisects

ZACB.If seg AB = seg AC, then prove that ED || BC.

° Watch Video Solution

Practice Set 13

1.In the adjoining figure, ZABC = 75°, Z/ZEDC = 75°.

State which two triangle are similar and by which test?

Also write the similarity of these two triangles by a


https://dl.doubtnut.com/l/_e9uORomBF3rS
https://dl.doubtnut.com/l/_Vht29S6BhJXl

proper one to one correspondence.

o Watch Video Solution

2. Are the triangle in the adjoining figure similar? If yes,

by which test?


https://dl.doubtnut.com/l/_Vht29S6BhJXl
https://dl.doubtnut.com/l/_FEPFdxt020dO

L
10

6 3 5

Q g R M 4 N

o Watch Video Solution

3. As shown in the figures, two poles of height 8m and
4m are perpendicular to the groudn. If the length of
shadow smaller pole due to sunlight is 6 m then long

will be the shadow of the bigger pole of the same time?

A



https://dl.doubtnut.com/l/_FEPFdxt020dO
https://dl.doubtnut.com/l/_QlpQgBZtCgdP

I ° Watch Video Solution

4, In
AABC, AP | BC,BQ 1 AC.B-P—-C,A—-Q—-C,
then prove that ACPA-~ACQB.

If AP =7, BQ = 8, BC = 12 then find AC.

A

° Watch Video Solution



https://dl.doubtnut.com/l/_QlpQgBZtCgdP
https://dl.doubtnut.com/l/_6lA40l4VCm6F

5.Given : In trapezium PQRS, side PQ||SR, AR = 5 AP, AS =

5 AQ, then prove that SR=5 PQ.

P Q

o Watch Video Solution

6. In trapezium ABCD side AB | | side DC, diagonals AC

and BD intersect In point O. If


https://dl.doubtnut.com/l/_AL2LY1gEpF42
https://dl.doubtnut.com/l/_hbugY95EvGDZ

AB = 20, DC = 6, OB = 15 thn find OD.

C D

° Watch Video Solution

7. L1 ABCD is a parallelogram. Point E is on side BC.
Line DE intersects ray AB in point T. Prove that

DE x BE = CE x TE.

| e |


https://dl.doubtnut.com/l/_hbugY95EvGDZ
https://dl.doubtnut.com/l/_VnAEVCPR4XwL

l & Watch Video Solution J

8. In the figure, seg AC and seg BD intersect each

th [ int P dAP—BPP that
other in poin an cP ~ DP rove tha

AABP-~-ACDP.

° Watch Video Solution

9. In the adjoining figure, in AABC, point D is on side

BC such that, ZBAC = ZADC. Prove that,


https://dl.doubtnut.com/l/_VnAEVCPR4XwL
https://dl.doubtnut.com/l/_mwXRahklLPG6
https://dl.doubtnut.com/l/_EPx6tEJZgFaY

CA? = CB x CD.

° Watch Video Solution

Practice Set 14

1. The ratio of corresponding sides of similar triangles is

3: 5, then what is the ratio of their areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_EPx6tEJZgFaY
https://dl.doubtnut.com/l/_emvQGJXcEMxj
https://dl.doubtnut.com/l/_4kp49qNLWEF3

2. If A ABC-APQR and AB: PQ = 2:3, then fill in

the blanks:

A(AABC) (AB)® 2¢O
A(APQR) 0O 32 O
A(AABC)  AB* 22 4
A(APQR) PQ> 32 9

o Watch Video Solution

3, if
AABC-APQR, A(AABC) = 80, A(APQR) = 125,

then fill in the blanks:

A(AABC)
AA ) =2 48— D

o Watch Video Solution



https://dl.doubtnut.com/l/_4kp49qNLWEF3
https://dl.doubtnut.com/l/_RrmWy8X5sUip

4. ALMN-APQR,
9 x A(APQR) = 16 x A(ALMN). If QR = 20, then

find MN.

o Watch Video Solution

5. Areas of two similar triangles are 225 sq cm and 81 sq
cm. If a side of the smaller triangle is 12 cm, then find

the corresponding side of the bigger triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_cPv5GaAW7Zd7
https://dl.doubtnut.com/l/_tuyn7TqlFhqg

6. AABC and ADEF are equilateral triangles. If

A(AABC): A(ADEF) = 1:2and AB = 4, find DE.

° Watch Video Solution

7. In the adjoining figure, seg PQ|[seg DE,
A(APQF) = 20 sq. uints, PF = 2 DP, then find A
(O DPQE) by completing the following activity.

D

Q

[ o Watch Video Solution


https://dl.doubtnut.com/l/_7Sn7Dug6T9co
https://dl.doubtnut.com/l/_xIrqyFJSV9vl

Problem Set 1

. In AABC and APQR, in a one to one

correspondence.
AB BC CcA
= = , then
QR PR PQ
A
QM
B C R P

A.APQR-AABC

B. APQR-ACAB

C. ACBA-APQR


https://dl.doubtnut.com/l/_xIrqyFJSV9vl
https://dl.doubtnut.com/l/_QJ9PcOLvpmMq

D. ABCA-APQR

Answer: B

° Watch Video Solution

2. If in ADEF and APQR, /D = /Q, /R = /E,

then which of the following statements is false?

9

D
E/fo p
. EF _ DF

"PR  PQ
. DE _ EF

PQ RP


https://dl.doubtnut.com/l/_QJ9PcOLvpmMq
https://dl.doubtnut.com/l/_WO54VrIo8M2x

DE DF

C. =
QR  PQ
b EF _ DFE
"RP QR
Answer: B

o Watch Video Solution

3. In AABC and ADEF, /B=/E /F =/C
and AB = 3 DE, then which of the statements regarding

the two triangles is true?

A

D

C E//\F

A. The triangles are not congruent and not similar.



https://dl.doubtnut.com/l/_WO54VrIo8M2x
https://dl.doubtnut.com/l/_NgOoIYuWn3ka

B. The triangles are similar but not congruent.

C. The triangles are congruent and similar.

D. None of the statements above is true.

Answer: B

o Watch Video Solution

4, AABC and ADEF are equilateral triangles,

A(AABC): A(ADEF) = 1:2.


https://dl.doubtnut.com/l/_NgOoIYuWn3ka
https://dl.doubtnut.com/l/_J3l8RbjOMJMX

If AB = 4 then what is the length of DE?

D

\

A 2¢/2

B.4

C.8

D. 44/2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_J3l8RbjOMJMX
https://dl.doubtnut.com/l/_1OWSqmI7PMvk

5.1n the adjoining figure, seg XY ||seg BC, then which of

the following statements is true?

A
X Y
B C
A AB AX
" AC AY
o AX _AY
" XB AC
CAX 4y
YC XB
5 AB AC
"YC XB

Answer: A



https://dl.doubtnut.com/l/_1OWSqmI7PMvk

\ ° Watch Video Solution

6.In AABCB -D - C and BD =7, BC = 20, then find the

ratio.

A(AABD)
A(AADC)
A

o Watch Video Solution



https://dl.doubtnut.com/l/_1OWSqmI7PMvk
https://dl.doubtnut.com/l/_Y67dZhvhku7m

7.In AABCB -D - C and BD = 7, BC = 20, then find the

ratio

A(AABD)
A(AABO)
A

B D C

o Watch Video Solution

8.In AABCB - D - C and BD = 7, BC = 20, then find

following rations.


https://dl.doubtnut.com/l/_uOK0Jj1tTVyh
https://dl.doubtnut.com/l/_VDjW2WsYLwbC

A(AADC)
A(AABC)

° Watch Video Solution

9. Ratio of areas of two triangles with equal height is
2: 3. If base of the smaller triangle is 6 cm, the what is

the corresponding base of the bigger triangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_VDjW2WsYLwbC
https://dl.doubtnut.com/l/_MdZClGu3u8Hz
https://dl.doubtnut.com/l/_waLC7FHmIt6q

10. In the adjoining figure,

/ABC = /DCB = 90°, AB=6,DC =8, then

A(AABC)
A(ADCB)
D
A
8
6
B C

o Watch Video Solution

11. In the adjoining figure, PM =10 cm, A(APQS) =100

sq. em, A(AQRS) = 110sq. cm, then find NR.


https://dl.doubtnut.com/l/_waLC7FHmIt6q
https://dl.doubtnut.com/l/_7XT56aqYX8AW

° Watch Video Solution

12. AMNT-~AQRS. Length of altitude drawn from

point T is 5 and length of altitude drawn from point S is

. _ A(AMNT)
9. Find the ratio .
A(AQRS)

° Watch Video Solution



https://dl.doubtnut.com/l/_7XT56aqYX8AW
https://dl.doubtnut.com/l/_QBxe8nvmXOCm

13. In the figure A— D —C and B— E—C seg
DE | | side AB. If AD =5, DC = 3, BC = 6.4 then

find BE.

A

B x E 64-x C

o Watch Video Solution

14. In the adjoining figure, seg PA , seg OB, seg RC and

seg SD are perpendicular to line AD. AB = 60, BC = 70, CD


https://dl.doubtnut.com/l/_gQAVYhFso06G
https://dl.doubtnut.com/l/_xWdU2Cik4kxL

= 80, PS = 280, then find PQ, QR and RS.

P A

° Watch Video Solution



https://dl.doubtnut.com/l/_xWdU2Cik4kxL

o x I
s

15.
In APQR seg PM is a median. Angle bisectors of
/ZPMQE and ZPMR interesect side PQ and side PR in
points X and Y respectively. Prove that XY | | QR.

Complete the proof byfilling in the boxes:

o Watch Video Solution

16. In the figure bisectors of /B and ZC of AABC

intersect each other in point X. Line AX intersects side


https://dl.doubtnut.com/l/_5V9MJkH5vSoz
https://dl.doubtnut.com/l/_caQLOFYUNxDE

AX
BCinpontY. AB =5, AC = 4, BC = 6 then find v

o Watch Video Solution

17.In O ABCD, seg AD | | seg BC. Diagonal AC and

digonal BD intersect each other in point P. Then show


https://dl.doubtnut.com/l/_caQLOFYUNxDE
https://dl.doubtnut.com/l/_bXIhweXSi6Nj

AP pPC
PD BP’

that

° Watch Video Solution

18.1n the adoining figure, XY || seg AC. If 2 AX = 3 BX and

XY =9, find the value of AC.
A



https://dl.doubtnut.com/l/_bXIhweXSi6Nj
https://dl.doubtnut.com/l/_b5uB9tO5dIdX

° Watch Video Solution

19. In the adjoining figure, the vertices of square DEFG
are on the sides of AABC. If /A = 90°, then prove

that DE?2 = BD x EC.
A

B D E C

° Watch Video Solution

Activites For Practice


https://dl.doubtnut.com/l/_b5uB9tO5dIdX
https://dl.doubtnut.com/l/_sHkYg0BSLE3S

1.In the adjoining figure, if AB || CD || FE, then find x and

AE.

!

12

° Watch Video Solution

2.In AABC'ray BD bisects ZABC and ray CE bisects

/ACB.If seg AB = seg AC, then prove that ED || BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_NUhj7RGIwCOR
https://dl.doubtnut.com/l/_kvsKfLVSdAnj
https://dl.doubtnut.com/l/_olqZoE6TBjtW

3. AABC and ADEF are equilateral triangles. If

A(AABC): A(ADEF) = 1:2and AB = 4, find DE.

° Watch Video Solution

4.In the figure A — D —Cand B— E — Cseg DE | |

side AB.If AD =5, DC = 3, BC = 6.4 then find BE.

A

B x E 64-x C

° Watch Video Solution



https://dl.doubtnut.com/l/_olqZoE6TBjtW
https://dl.doubtnut.com/l/_sKVyiEe5C1rE

Multiple Choice Questions

1. In the given figure, if AD = 5 cm and CE = 3, then

A(AABD)
A(ABED) — .

A

B C dp

>

@
ol w ©|§ w| ot

0


https://dl.doubtnut.com/l/_pYFmMmvHka7A

Answer: A

o Watch Video Solution

2.In APQR,Q-A-Rand QA=6 cm, QR =11 cm , then
A(APRA)

A(APQA)



https://dl.doubtnut.com/l/_pYFmMmvHka7A
https://dl.doubtnut.com/l/_xsiVxb9OZpyD

N w
w|ot o w oo

o

Answer: A

o Watch Video Solution

A(ATRP)
3.In the figure,RP: PK =11: 8, then

ATPK)

T



https://dl.doubtnut.com/l/_xsiVxb9OZpyD
https://dl.doubtnut.com/l/_VObdmrYj9Me1

A 11:8

B.8:11

C.7:11

D.11:19

Answer: A

o Watch Video Solution

4. Ratio of areas of two triangles with equal bases is 3 :
4. If height of the bigger triangle is 20 cm, then the

corresponding height of the smaller triangle is

A.4 cm


https://dl.doubtnut.com/l/_VObdmrYj9Me1
https://dl.doubtnut.com/l/_XimrHHmx4yWz

B.9 cm

C.12cm

D.15 cm

Answer: D

° Watch Video Solution

5.1f A(AABC) = A(ALMN), then MN =

A P

M T N
4 cm
8 cm
m L
D

~

'y

S5cm >


https://dl.doubtnut.com/l/_XimrHHmx4yWz
https://dl.doubtnut.com/l/_wKPxRHBJrioM

A.40 cm

B.10 cm

C.4cm

D.20 cm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wKPxRHBJrioM

6. In the given figure, if DE || AC, then AB =

A. 2. 4units

B. 5.4units

C. bunits

D. 9units

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5YtN78bymMcq

7.X and Y are points on sides AB and AC respectively of

AABC. For which of the following cases will XY be

parallel to BC?

A.AX=13cm,XB =3.9cm,

AY =28 cm,YC =56 cm,

B.AX=13cm,XB =39 cm,

AY =28 cm,YC =84 cm

C.AX=13cm,XB =2.6 cm,

AY=28cm,YC=84 cm

D.AX=13cm,XB =2.6 cm,

AY=28cm,YC=11.2cm


https://dl.doubtnut.com/l/_5YtN78bymMcq
https://dl.doubtnut.com/l/_QBQbdX1A3xBi

Answer: B

o Watch Video Solution

8. In the given figure, DE || BC. If AB = 12 cm and AD =

3cm, then AE : EC =

Al:2


https://dl.doubtnut.com/l/_QBQbdX1A3xBi
https://dl.doubtnut.com/l/_ign6J4Xgsbea

B.1:3

C.1:4

D.4:1

Answer: B

o Watch Video Solution

9.In APQR, if ST || QR, then what is the value of x?



https://dl.doubtnut.com/l/_ign6J4Xgsbea
https://dl.doubtnut.com/l/_0NcyrvElKI4h

Al

B.2

C.3

D.4

Answer: C

° Watch Video Solution

10. Ray BD is the angle bisector of ZABC. The

perimeter of AABC'is


https://dl.doubtnut.com/l/_0NcyrvElKI4h
https://dl.doubtnut.com/l/_z7Wq7g8rB9oT

8 cm D 2.7 cm

B 9 cm

A .24 cm
B.3.1cm
C.221cm

D.22.8 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_z7Wq7g8rB9oT

1. O PQRS is a trapezium, and AB || PS || QR. If PA=3

cm, AQ =14 cm,BR =21 cm, then SB =

P S

T e

Q

A.2 cm

B.2.5cm

C.4cm

D.4.5cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zKO9yROlAwW7

AB BC AC
12. In AABC and AXY Z, Y7 - 72X - XV’ then

by which correspondence are AABC and AXYZ

similar?

A.ABC < XYZ

B.ABC <> YXZ

C.ABC <> YZX

D.BAC < YZX

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zKO9yROlAwW7
https://dl.doubtnut.com/l/_PA9e9U2jed4O
https://dl.doubtnut.com/l/_1pn0YHgt9ahj

PQ QR
XY XZ

13. If in APQR and AXY Z, then the

triangles will be similar, when

A/P=/X

B./R = /Y

C./Q~/Y

D./Q =~ /X

Answer: D

o Watch Video Solution

14. If APQR-ADEF, /P = 65° and /F = 32°,

then ZQ) is


https://dl.doubtnut.com/l/_1pn0YHgt9ahj
https://dl.doubtnut.com/l/_R1Q4B6kZnZXP

A 32°

B.65°

C.83°

D.97°

Answer: C

° Watch Video Solution

15.3fC A ABC- /A PQR d1 2AB = PQ d BC = 8 @t 2

d9 OR =

A. 4 cm

B.16 cm


https://dl.doubtnut.com/l/_R1Q4B6kZnZXP
https://dl.doubtnut.com/l/_24whMYqzqPdy

C.8cm

D.32cm

Answer: B

° Watch Video Solution

16. In the given figure, if seg PQ|| seg BC such that

AP 2 th PQ | t
_— = —, n ——
1B g e BC is equal to


https://dl.doubtnut.com/l/_24whMYqzqPdy
https://dl.doubtnut.com/l/_O4HNSfam08de

as)

N|m N[ MmN oo
< o J =)

Answer: B



https://dl.doubtnut.com/l/_O4HNSfam08de

I o Watch Video Solution

17. In the figure, if AXY Z is right angled at Y and UV

1 XZ, XZ = 13 cm , then the lengths of XV and UV

respectively are.

X
) 3 cm
U
2 cm
Z 12 cm Y

A. 15cm, 36cm

B. 36cm, 15cm

c 15 36
.13cm, 130m



https://dl.doubtnut.com/l/_O4HNSfam08de
https://dl.doubtnut.com/l/_QJj02CkCsvSl

36 15
©13 77 13

cm

Answer: C

° Watch Video Solution

18. A vertical pole of length 6 m casts a shadow 4 m long
on the ground and at the same time a tower casts a
shadow 28 m long. Find the height of the tower.

A. 14 m

B.28 m

C.35m

D.42 m


https://dl.doubtnut.com/l/_QJj02CkCsvSl
https://dl.doubtnut.com/l/_dzusH3yxQOsN

Answer: D

o Watch Video Solution

19.In the figure, AABC-ABPQ. If AB=BCand P is the

midpoint of seg BC,then A(AABC): A(ABPQ)=

A



https://dl.doubtnut.com/l/_dzusH3yxQOsN
https://dl.doubtnut.com/l/_s3n7sQavYIe1

Al:2

B.2:1

C.1:4

D.4:1

Answer: D

° Watch Video Solution

20. In the figure, AABC~-AAPQ. If AB 12 cm, and AQ

1
=7 AC, then the length of AP is


https://dl.doubtnut.com/l/_s3n7sQavYIe1
https://dl.doubtnut.com/l/_4OxCMxdrYfXs

A.2 cm

B.3 cm

C.4cm

D.6cm

Answer: B

[ o Wiak h \NAAA CAlLiikian


https://dl.doubtnut.com/l/_4OxCMxdrYfXs

| & YVOULLIL VIMGY DWIMGILE J

2. APQR-AXYZ. PQ : XY = 7 : 3, then
A(APQR): A(AXY Z)=

AT7:3

B.3:7

C.49:9

D.9:49

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4OxCMxdrYfXs
https://dl.doubtnut.com/l/_onOub8KkDJxk

22. If AABC-APQR

ar(APRQ)
ar(ABCA)

is equal to

A.9

N

O
O| = w| +~

Answer: A

with

BC
QR

g,then

° Watch Video Solution



https://dl.doubtnut.com/l/_Y60w4tiZFXYA

23. AABC~ADEFEF. If BC = 5 cm,EF = 75 cm and
A(ADEF) = 45¢m?, then A(AABC) =

A. 10cm?

B. 20cm?

C. 30cm?

D. 40cm?

Answer: B

° Watch Video Solution

24. If the ratio of corresponding sides of similar

triangles is 3 : 4, then the ratio of their areas is


https://dl.doubtnut.com/l/_iVewMsssQIVn
https://dl.doubtnut.com/l/_X7k2Ll8bk1Sa

A 3:4

B.4:9

C.9:16

D.16:9

Answer: C

° Watch Video Solution

25. The areas of two similar triangles are 32em? and

50cm?. The ratio of their corresponding sides is

A3:7

B.4:5


https://dl.doubtnut.com/l/_X7k2Ll8bk1Sa
https://dl.doubtnut.com/l/_ziRPlQkwlcMF

C.5:4

D.16: 25

Answer: B

° Watch Video Solution

26. APQR~AUTS.If A(APQR):A(AUTS) =16 : 9,
and TS = 1.8 cm, then QR =

A.135cm

B.24 cm

C.3.2cm

D.11cm


https://dl.doubtnut.com/l/_ziRPlQkwlcMF
https://dl.doubtnut.com/l/_NpUddFpt3n7T

Answer: B

° Watch Video Solution

27. ADEF-AMNK. if DE = 2, MN = 5, then find

A(ADEF)
A(AMNK)

the value of

>

w
H;lw t\pl,,lk | ot ot o

O N
St Ot

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NpUddFpt3n7T
https://dl.doubtnut.com/l/_ubUtfF0LpeoK

28. If AABC~-ADEF such that
A(AABC) = 4A(ADEF) and AC = 6 cm, then DF =
A.2cm
B.3cm
C.6cm

D.9cm

Answer: B

o Watch Video Solution

Additonal Problems For Practice Basid On Practice Set 11



https://dl.doubtnut.com/l/_ubUtfF0LpeoK
https://dl.doubtnut.com/l/_r8Q7jSRCyp4k

1.In given figure,seg AE | seg BC,seg DF L line BC,

A(AABC)
AE =4, DF =6, then find .
' A(ADBC)
D
A
]
»
B E C F

° Watch Video Solution

2.In the given figure,seg BE | seg AB and seg BA |

A(AABE)
seg AD. If BE =6 and AD =9, then find :
A(ABAD)



https://dl.doubtnut.com/l/_6EVSNAqgQkQi
https://dl.doubtnut.com/l/_ArQ9gcZ6yz8I

o Watch Video Solution

3.In AABC'point D is on side BC such that DC = 6,BC =
15. find

()A(AABD): A(AABC) and


https://dl.doubtnut.com/l/_ArQ9gcZ6yz8I
https://dl.doubtnut.com/l/_Z0en6gK2jK0G

(i) A(AABD): A(AADC).
A

o Watch Video Solution

4. In the given figure,QR =12 and SR = 4.

Find the values of
 A(APSR)

O A(APQR)
A(APQS)

W) A (APOR)



https://dl.doubtnut.com/l/_Z0en6gK2jK0G
https://dl.doubtnut.com/l/_7aHm3bvJ2ssV

(iii)

s 4 R
< 12— >

o Watch Video Solution

5. In the given figure, if RP : PK = 3: 2, then find the
following ratios.
(i) A(ATRP): A(ATPK)

(i) A(ATRK): A(ATPK)


https://dl.doubtnut.com/l/_7aHm3bvJ2ssV
https://dl.doubtnut.com/l/_Z79OB35WZzdy

(i) A(ATRP): A(ATRK)

R P K

o Watch Video Solution

6. In the given figure, in AABC, point D is on side AC. If
AC =16, DC = 9 and BP L AC then, find the following

rations.

_ A(AABD

A(AABC
A(ABDC

A(AABC

S— | N N | N


https://dl.doubtnut.com/l/_Z79OB35WZzdy
https://dl.doubtnut.com/l/_Kl1oYRccVTsb

o Watch Video Solution

7. In the given figure, seg AE | seg BC and seg DF |

seg BC. Find

A(AABC)
"A(ADBC)
_ A(ADBF)

" A(ADFC)



https://dl.doubtnut.com/l/_Kl1oYRccVTsb
https://dl.doubtnut.com/l/_bCDPxrS49dhr

A(AAEC)
A(ADBF)

o Watch Video Solution

8. In the following figure, seg DH L seg EF and seg GK
1 EF.If DH=6 cm, GK =10 cm and A(ADEF) =150cm?

, then find:


https://dl.doubtnut.com/l/_bCDPxrS49dhr
https://dl.doubtnut.com/l/_5EmcDc1GT5OV

(iii) A(O DFGE)
D

ule

o Watch Video Solution

9. [JABCD is a parallelogram. P is any point on side

BC. Find two pairs of triangles with equal areas.


https://dl.doubtnut.com/l/_5EmcDc1GT5OV
https://dl.doubtnut.com/l/_HNO5mvTp7UYM

o Watch Video Solution

10. The ratio of the areas of two triangles with common
base is 4:3. Height of the larger triangle is 6 cm, then

find the corresponding height of the smaller triangle.

° Watch Video Solution

11. The ratio of the areas of two triangles with the

common base is 6:5. Height of the larger triangle is 9


https://dl.doubtnut.com/l/_HNO5mvTp7UYM
https://dl.doubtnut.com/l/_hsWFLfZa1ZP4
https://dl.doubtnut.com/l/_yjOJXrMluXok

cm, then find the corresponding height of the smaller

triangle.

° Watch Video Solution

Additonal Problems For Practice Based On Practice Set 12

1.In AABC, DE||BC. IfDB =54 cm,AD =18 cm,EC

= 7.2 cm, then find AE.

A

& |


https://dl.doubtnut.com/l/_yjOJXrMluXok
https://dl.doubtnut.com/l/_tkdqgjAMH2fZ

[ & Watch Video Solution ]

2.In the given figure, line | || side BC, AP =4, PB = 8, AY =

5 and YC=x. Find x.

A 5 \Y . C

o Watch Video Solution



https://dl.doubtnut.com/l/_tkdqgjAMH2fZ
https://dl.doubtnut.com/l/_7kr2pjsvZcDK

3. In the adjoining figure, seg EF|| side AC, AB = 18, AE =

10, BF = 4. Find BC.

A

B F - C

o Watch Video Solution

4. In the adjoining figure,seg DE||side AC and seg DC ||

side AP.


https://dl.doubtnut.com/l/_rPkZ1ahIhAr7
https://dl.doubtnut.com/l/_PFWWO2ip9kIN

P thtBE—BC
rove tha EC ~ CP

D

B E C P

o Watch Video Solution

5.1n the adjoining figure, PM = 4.8, MR = 2.4, QN = 5.4, NR
=3.6.

State with reason whether seg MN is Parallel to side PQ


https://dl.doubtnut.com/l/_PFWWO2ip9kIN
https://dl.doubtnut.com/l/_2qY38nQ3QTr7

Q 54 N 361

o Watch Video Solution

6.In APQR, seg RS bisects ZR.if PR =15, RQ = 20, PS =

12, then find SQ.


https://dl.doubtnut.com/l/_2qY38nQ3QTr7
https://dl.doubtnut.com/l/_OzEiyQ2SmMyt

o Watch Video Solution

7. In the following figure, in APQR, seg RS is the

bisector of ZPR(), PS=6,50Q=8, PR =15, Find QR.


https://dl.doubtnut.com/l/_OzEiyQ2SmMyt
https://dl.doubtnut.com/l/_OxDqbSxjSyEh

15

O ® »no T

o Watch Video Solution

8. In the following figure, in APQR, seg RS is the

bisector of ZPRQ.If PS=9,SQ =6, PR =18, find OR.


https://dl.doubtnut.com/l/_OxDqbSxjSyEh
https://dl.doubtnut.com/l/_K4O9qOS0qrsH

o Watch Video Solution

9. In the following figure, ray PT is the bisector of

ZQPR. Find the value of x and perimeter of APQR.


https://dl.doubtnut.com/l/_K4O9qOS0qrsH
https://dl.doubtnut.com/l/_Dftm8L2yIC9k

o Watch Video Solution

10. In the given figure, ray LS is the bisector of ZM LN,

and ML = LN.Find the relation between MS and SN.


https://dl.doubtnut.com/l/_Dftm8L2yIC9k
https://dl.doubtnut.com/l/_pflvn8ZEIqqF

L +—

o Watch Video Solution

11. In the adjoining figure, seg PS||seg QT||seg RU, PQ =

6.4, PR = 9.6 and ST =11, then find the length of SU.


https://dl.doubtnut.com/l/_pflvn8ZEIqqF
https://dl.doubtnut.com/l/_7nZmmpxU8O4v

0 Watch Video Solution

Additonal Problems For Practice Based On Practice Set 13

. In AXYZ,/Y = 100°, /Z = 30°. In

ALMN, /M = 100°, ZN = 30°. Are AXYZ and


https://dl.doubtnut.com/l/_7nZmmpxU8O4v
https://dl.doubtnut.com/l/_uNBwSmRiDr91

ALM Nsimilar? If yes, by which test?
X

° Watch Video Solution

2. Are two triangles in the figure given below similar
according to the information given? If yes, by which

test?

° Watch Video Solution



https://dl.doubtnut.com/l/_uNBwSmRiDr91
https://dl.doubtnut.com/l/_ICH0jyJn3AME

3. Can we say that two triangles in the given figure are

similar according to the information given? If yes, by

which test?
M
X
21
/\
Y 20 Z N 30 P

o Watch Video Solution

4. In the fiigure given below, which triagles are similar?

Justify.


https://dl.doubtnut.com/l/_ICH0jyJn3AME
https://dl.doubtnut.com/l/_1cu697m0FNQG
https://dl.doubtnut.com/l/_iagXdMjkrOll

o Watch Video Solution

5. A street light bulb is fixed on a pole 6 m above the
level of the street. If a women of height 1.5 m casts a
shadow of 3 m, then find how far she is away from the

base of the pole.


https://dl.doubtnut.com/l/_iagXdMjkrOll
https://dl.doubtnut.com/l/_13QfvvDb7LXz

° Watch Video Solution

6. Diagonals of a quadrilateral ABCD intersect in point Q.

if 2QA=0QC,2 QB =QD, then prove that DC =2 AB.

° Watch Video Solution

7.ln O ABCD ,side BC | | side AD. Digonals AC and

1
BD intersect each other at P. If AP = gAC then

1

prove DP = EBP'

° Watch Video Solution

Additonal Problems For Practice Based On Practice Set 14



https://dl.doubtnut.com/l/_13QfvvDb7LXz
https://dl.doubtnut.com/l/_nYRCv7ZfUf4k
https://dl.doubtnut.com/l/_p5LOEJGmAQZD

I.ADEF~-AMNK. If DE =5, and MN = 6, then find the

A(ADEF)
A(AMNK)

value of

° Watch Video Solution

2. AABC-APQR. If  A(AABC) = 25,

A(APQR) = 16 find AB: PQ.

° Watch Video Solution

3.If APQR~-APMN and 9A(APQR) = 16

R
A(APMN) then find ]\C/%IN'

[ o WAL _L w2l e~ ]


https://dl.doubtnut.com/l/_iLgz94DihbcT
https://dl.doubtnut.com/l/_niWWg4g6Ml0Z
https://dl.doubtnut.com/l/_5eln28XtIQPu

t ™ Vvdilll vVIUCO o0IUtivIl ) |

4. ALMN-ARST and A(ALMN) = 100sq. Cm,

A(ARST) =144sq cm, LM = 5cm. Find RS.

o Watch Video Solution

5. Ratio of corresponding sides of two similar triangles
is 2 : 5. if the area of the smaller triangle is 64sq. Cm,

then what is the area of the bigger triangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_5eln28XtIQPu
https://dl.doubtnut.com/l/_0wCdfk1ce5g9
https://dl.doubtnut.com/l/_KYGVUSF2OtQ5

6. AABC and ADEF are equilateral triangles. If

A(AABC): A(ADEF) = 1:2and AB = 4, find DE.

° Watch Video Solution

7. If the areas of two similar triangles are equal, prove

that they are congruent.

o Watch Video Solution

8.In trapezium AC and BD intersect each other at point

A(AABP) AB?
P. Then prove that = .
A(ACPD) CD?

0 Watch Video Solution



https://dl.doubtnut.com/l/_zx4wml8zx5EU
https://dl.doubtnut.com/l/_MQdc1D5NkVr2
https://dl.doubtnut.com/l/_7MjdqYpOC4Tl

Chapter Assessment

1. Choose the correct alternative.

In the given figure, if BC = 3cm and BD = 7 cm , then
A(AABCQC)

A(AABD)



https://dl.doubtnut.com/l/_7MjdqYpOC4Tl
https://dl.doubtnut.com/l/_DAHycbLAvLNO

3
C.—
7
b 3
10

Answer: C

° Watch Video Solution

2. Choose the correct alternative.

A
In the given figure, if seg PQ|| BC, then A(



https://dl.doubtnut.com/l/_DAHycbLAvLNO
https://dl.doubtnut.com/l/_7ltao8RJvpAG

PQ
BC
PQ
¥e

QC
C. ﬁ

Answer: D

I o Wiakt~h \NtAAA CAlLiikian


https://dl.doubtnut.com/l/_7ltao8RJvpAG

| € AAK-LAFIE R AL A" Ar* LVIL"1LY10] J

3. Choose the correct alternative.
AABC and APQR are equilateral triangles. If
A(AABC): A(APQR) =1:16, and AB = 2 cm, then
what is the length of PR?

A .4 cm

B.2cm

C.6cm

D. 8cm

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7ltao8RJvpAG
https://dl.doubtnut.com/l/_LKS2W4hnRxBP

4. Choose the correct alternative.
In the given figure, if seg PQ|| RS ||seg TU, and PR = 6, RT
=3,QS =5, then what is the length of SU?
P Q
N\
A \y

A. 2.5 units

B. 7.5 units

C. 10 units

D. 1.5 units

Answer: A



https://dl.doubtnut.com/l/_i7hVawDGCX1F

I ° Watch Video Solution

5.

In the given figure, ray PT is the bisector of ZQPR.

Find the value of x.

P

5.6 cm

Q

4 cm T\ sem R

° Watch Video Solution



https://dl.doubtnut.com/l/_i7hVawDGCX1F
https://dl.doubtnut.com/l/_baIjKQZSTPmC

6.
Are the triangle shown in the figure below similar? If so,

by which test of similarity?

C

64°

o Watch Video Solution

7. Complete the following activities

The areas of two triangle with same base are in


https://dl.doubtnut.com/l/_w4qVVABxUZ4C
https://dl.doubtnut.com/l/_5eAXastVOXgw

proportion of their corresponding height. To prove the
theorem, answer the following

a. Draw two triangles, give names of all points,show
their bases.

b. Write ' given' and 'to prove' from the figures drawn.

o Watch Video Solution

8. In the figure X is any point in the interior of triangle.
Point X is joined to vertices of triangle. Seg PQ | | set

DE, set QR | | set EF. Fill in the blanks to prove that set


https://dl.doubtnut.com/l/_5eAXastVOXgw
https://dl.doubtnut.com/l/_6CByOuZ5cabG

PR | | seg DF.

o Watch Video Solution

9.In the figure A — D —Cand B— E — Cseg DE | |

side AB.If AD = 5, DC = 3, BC' = 6.4 then find BE.



https://dl.doubtnut.com/l/_6CByOuZ5cabG
https://dl.doubtnut.com/l/_JqfpfOnTWWSI

B x E 64-x C

° Watch Video Solution

10. A vertical pole of length 8 m casts a shadow of 15 m
long on the ground. At the same time, a tower casts a

shadow 45 m long. Find the height of the tower.

0 Watch Video Solution



https://dl.doubtnut.com/l/_JqfpfOnTWWSI
https://dl.doubtnut.com/l/_5WF8thapSGdg

1. The ratio of the areas of two triangles with equal
height is 3 : 4. Base of the smaller triangle is 15 cm. Find

the corresponding base of the large triangle.

o Watch Video Solution

12. In the adjoining figure, seg PA , seg OB, seg RC and

seg SD are perpendicular to line AD. AB = 60, BC = 70, CD


https://dl.doubtnut.com/l/_O7xG4FduqeTm
https://dl.doubtnut.com/l/_odECiBcXRn1l

= 80, PS = 280, then find PQ, QR and RS.

P A

° Watch Video Solution



https://dl.doubtnut.com/l/_odECiBcXRn1l

13.
In APQR seg PM is a median. Angle bisectors of
ZPMQE and ZPMR interesect side PQ and side PR in
points X and Y respectively. Prove that XY | | QR.

Complete the proof byfilling in the boxes:

o Watch Video Solution

14. Solve the following questions.

Diagonals of a quadrilateral ABCD intersect in point Q. if


https://dl.doubtnut.com/l/_5Vc0moGhLRNI
https://dl.doubtnut.com/l/_MwTdgYlRZpc0

2 QA =QC,2 QB =QD, then prove that DC = 2AB.

o Watch Video Solution

15. Prove that , "If a line parallel to a side of a triangle
intersects the remaining sides in two distinct points

then the line divides the sides in the same proportion".

O Watch Video Solution

16. Slove the following questions.
In the figure, AADB and ACDB are drawn on the

same base BD.if AC and BD intersect at O, then prove


https://dl.doubtnut.com/l/_MwTdgYlRZpc0
https://dl.doubtnut.com/l/_HItxJzEMZUmH
https://dl.doubtnut.com/l/_hEHCdQ1c91wk

hat A(AADB) A0
° A(ACDB) CO’

o Watch Video Solution

17.
In the given figure, [ PQRS is a square. If

AQRT and APRU are similar to each other, then


https://dl.doubtnut.com/l/_hEHCdQ1c91wk
https://dl.doubtnut.com/l/_8mQ6BoxarIuj

prove that A(AQRT) =
U

SA(APRU).

P Q

° Watch Video Solution

18.

Prove that for a given correspondence, if three angles of
one triangles are congruent to the corresponding three
angles of the other triangle, then the two triangles are

similar.

[ o Wiakt~h \NtAAA CAlLiikian



https://dl.doubtnut.com/l/_8mQ6BoxarIuj
https://dl.doubtnut.com/l/_dWJZIpUmQsCA

| & YVOULLIL VIMGY SDWIMGILE J

19. In order to prove, The bisector of an angle of a
triangle divides the side opposite to the angle in the
ratio of the remaining sides.

(7) Draw a neat labelled figure.

(44) Write 'Given' and 'To prove'.

° Watch Video Solution



https://dl.doubtnut.com/l/_dWJZIpUmQsCA
https://dl.doubtnut.com/l/_X7RJxdreQNeW

